Calculus BC – Chapter 9 - Even Answers (F.T.D.W.)
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Section 9.1
2. a1 = 1, a2 = ½ , a3 = 1/6, a4 = 1/24
4. a1 = 1, a2 = 3 , a3 = 1, a4 = 3

6. x1​ = 1, x2 = ½ , x3 = 1/6, x4 = 1/10!

8. x1​ = -2, x2 = -1, x3 = -2/3, x4 = -1/2

x5 = -2/5; the pattern is xn = -2/n

10. x1 = 1, x2 = 1, x3 = 2, x4 = 4, x5 = 8
xn = 2n – 2 for n > 1.

12. 
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, diverges

14. converges to 10

16. 
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, diverges

18. converges to -2/3

20. converges to 0

22. 
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, diverges

24. diverges

26. converges to 6

28. 0

30. 0

32. 1

34. 0

36. 
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, diverges

38. 1

40. 1

42. e-1
44. 
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, diverges 

46. 1

48. 1

50. 4

52. 0

54. 0

56. 
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, diverges

58. 0

60. n > N = 9123

62. n 
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64. 
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66. a10(.99) = .904, a100 = .366

68. -.824

70. Try it?

72. xn+1 = Tan-1(2xn), x = 1.165561
Section 9.2


� EMBED Equation.DSMT4  ���4. a1 = 1 & r = –2


� EMBED Equation.DSMT4  ��� diverges


6.  � EMBED Equation.DSMT4  ���


8. convergent geometric series: � EMBED Equation.DSMT4  ���


10. convergent geometric series: Infinite Sum = 4


12. 10 – 3/2 = 17/2


14. convergent geometric series: 10/3


16. Partial Fractions: ¼ 


18. The series collapses: 1


20. � EMBED Equation.DSMT4  ��� hence the series is divergent.


22. Divergent geometric series since |r| � EMBED Equation.DSMT4  ��� 1


24. convergent geometric series: 5/6


26. divergent since � EMBED Equation.DSMT4  ���


28. 2/9


30. Divergent since the general term does not approach zero: � EMBED Equation.DSMT4  ���


32. � EMBED Equation.DSMT4  ���


34. a = 1, r = –x2


36. � EMBED Equation.DSMT4  ���


The question is: ‘How far out do we go to get within .01 of the limit of 1?’ We want: � EMBED Equation.DSMT4  ���


n + 1 > 100 or n > 99 so 100.





38. 12.5842 s


40. � EMBED Equation.DSMT4  ���


42. (a) � EMBED Equation.DSMT4  ���


(b) � EMBED Equation.DSMT4  ���


(c) � EMBED Equation.DSMT4  ���


44. ‘convincing’?


46. 52,500


48. goes to ‘e’


50. $20,000


52. (a) $21,188.03


(b) $28,538.51


54. � EMBED Equation.DSMT4  ���


56. diverges


58. Convergence of � EMBED Equation.DSMT4  ��� implies: � EMBED Equation.DSMT4  ���, then � EMBED Equation.DSMT4  ���


hence:


� EMBED Equation.DSMT4  ��� diverges
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